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[1 D).2) Just as..., s0...3) A and B have sth in common.4) A is similar
to B.5) the same is true of ] The same can be said of(LJ 00 UJ [0 [
[1).6) the advantages of A are much GREater than B.7) compared
with B, A has many advantages.8) the advantages outweigh the
disadvantages(J [J [0 [ ).9) Wonderful as A is, however, it has its
own disadvantages t00.10) Although A enjoys considerable
advantage over..., it can not compete with B in...11) Contrary to
widely accepted views, | believe that...12) What people fail to
consider is that...13) It is one thing to insist that..., it is quite another
to show that...14) Nothing can rival(l (O O 0O O 0O 0O O [0 ).15)

[1 has drawbacks as well as merits.16) A is superior(inferior) to B.17)
...varies from person to person(J O U 0O OO OO 00 [ )18) Ais just the
opposite (to B)19) A differs from B in thatL (AL U O B O O
[1)20) [ is not the same (as)e [1 [ O I 00 [ 1) this is true that...2)
This is true, no doubt, but...3) ...also...4) Itis one thing to.... it is
anotherto..e DO OO OOOOOMOYL)... rankfirst (both)
In...2) .. .in proportion to...3) A is by far the largest...4) As many
as....5) the number is ...times as much as that of ...6) the figure has
nearly doubled/tripled, as against that of last year.7) It accounts for
35% of...8) By comparison with ..., it decreased/increased/fell
from...to...9) ...rise rapidly(slowly)10) ...remain level...11) ...reach



...12)there is a slight/slow/steady/rapid rise/increase
demand./income./population./prices./production./decrease/decline
/reduction/fall/Odrop in13) be on the increase/decrease/rise/decline
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